Math 60, Sections 3.4 and 3.5 Notes and Practice

Section 3.5 Special Solution Sets

Equations with Special Solution Sets

1. Solve each equation.

a. _3_x+7-_x:2x—11

4+ T =24~
Wl /¥
7 7

7= -1

b. 2x+5+x=5(x21)+8

3K+S =3(-3+3

L =
S

-3
o= 0O
C. S5x+1=6x+1
54 =bxr
~5m  =Ex
2 = A
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An equation or inequality is inconsistent if it is not true for any real number. In this case we write
« No solution
e the empty set: &, or
e empty brackets: { }

An equation or inequality is an identity if it is true for all real numbers. In this case we write

= All real numbers
e R
® {x | x is a real number}

2. Write the solution for each equation or inequality.

a.x=x b. x>x
a;\\ {ga\ V\mw\,\gwf\ no SD\DL{;\@/\“H
c. 0=4 d. 2<4

no Solubron o\ redl vumber

e 2x=2x+1 ' fi2a

— 2% X

e W oread nam
s al\ v bey

he so\ wh e

g. 2x—7>2/(<xu—}5)+3 h. -2 x+3)~4x—6/6c—\+1)
2x~7 > 27&-35)&“}:. Zx- = Yx-by-L
Zh~T >2K-7 -2x-6 = -2xr—(,

7> o\ veal pumbess

ho So \\A)C\S\*-
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3. Emil and Julia are saving money in their accounts. Emil starts with $100 and saves $60 per month. Julia
starts with $200 and saves $60 per month. To determine when they will have the same amount in
savings, let x be the number of months they save and solve the equation:

100+ 60x =200+ 60x
('_-:O}( [:(\r(

oo = 200 NO So \ uk,)fju’)"k_,)

Section 3.4 Ratios and Proportions

A rate or ratio compares two quantities using division. \J}J
A proportion states that two rates or ratios are equal. %% ﬂr}/

(‘OO
4. Solve the following proportions. Check each solution and write the solution set.

L = A -
: x+2:§ -9 - b 1/0-’ I )
5 a (=B

3%.(7(«\‘2_3 = 255 3. ('%)(3475;19_ . (ﬂ—t)(y@.llo
S

Lo = (5—0(3* 2

A G

Hx+% = jo(y¥2 = (L;(j»\')
a___‘_:i:f_ﬁ—)f- | Oj 420 = 3 — (o
4% =7 x=4& . "E’j
g 1 1 —by t%-o = =il
3_7 %%‘% P_;: z—lx -

Lg- 2 ;,gf( D
= —_ = 2._-!
3X§ 1 3*3_ 1 | r3 ;
-4 -4 9 2 i
| 2z=3%2-3 1 7%
LA - -z +3 ~25 -32 k.
5 3 _33 .12 ’ 4=V
3 P ﬁ% :_.-.._3 bz
X="% k - = "=
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5. A car is driving 60 mph. Set up and solve a proportion to find out how long will it take the car to travel

132 miles? Remember to define your variable.
———

Led + = v in hou_vg

(:po m\e_s 152.rm\£5

O+ = (31(1'> e wousdl take 2.2 hours
Lo LD o 2 howvs awd_ 1. munuke g,

E= 2.2 hows

Similar triangles have the same angles and their sides are proportional.

6. Write and solve proportions for the similar triangles to find x and y.

" f//.

By 7

e -

3% ,/ =

o 8 | 5,2 M
&5~ 1oy *"/

Lx = 738 e e |
= ’{; 6 in 12 in |

7. An 8-ounce can of soda contains 36 milligrams of caffeine. How much caffeine is contained in a 20-
ounce bottle?
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More Practice

8. The annual property taxes for a house assessed at $250,000 were $2,463. Find the property taxes for a

house assessed at $325,000.

kot

o St )
$250,00° . $L463
§ 325,000 &

2SBoto % = 325000 (24631

250,000

25,000

*= $320).90

9. Write and solve proportions to find the value of x and y.

The wa&& toxes
are $2201.90

N

4.S N
\ @ \ 22 Q’L_
1 < 8 |
g & \\\\\
- $1§%\ ;;;%\
4 cm 6 em
X _ 6 Lcp=\2- B Lep =22
5 ¢ % 0
3 2 s
Loy izt 208 =26 &
Z Y 7 4
. dy =30
Gr=18 + 9
Lt \_’ 5:.‘-2-5-— or 7fS\CV\/\
x: j_ o "}-S‘CW\
e §
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10. Solve each equation below and state the solution set.

o 32 ) 52)
S5t+1S 220 +3L-2 |

St 4IS Z5t-27
-5t -y

IS Z=2.7
Al el numbesg

b. §y-1)-5=12y-5(3+3)
Ioj—g—-—'g = QJ ._,—5 "_3

. )03 = Iog,_,g .

"O:) - 1O
. .

b = —3

No ol ub@
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